

$$f(x) = \begin{cases} \cot \frac{\pi x}{x} & ; x \leq 1 \\ \sqrt{x^2 + 1} & ; x > 1 \end{cases}$$

$$f \circ f\left(\frac{1}{x}\right) = f\left(f\left(\frac{1}{x}\right)\right) = f(\sqrt{x}) = \sqrt{x^2 + 1} = \sqrt{x} = x$$

$$f\left(\frac{x}{x}\right) = \cot \frac{\pi x}{x \times x} = \cot \frac{\pi}{x} = \sqrt{x}$$

الف) $f\left(\frac{1}{x}\right) = \sqrt{\frac{x-1}{x^2}}$ $g(x) = x \cos x$ $f \circ g\left(\frac{x}{x}\right) = f\left(\frac{x}{x}\right) = \sqrt{\frac{x \cdot x - 1}{x^2}} = \sqrt{\frac{x^2}{x^2}} = \sqrt{\frac{x}{x}} = \sqrt{x}$
 $f\left(\frac{x}{x}\right) = \sqrt{x} \rightarrow x = x$
 $g\left(\frac{x}{x}\right) = x \cos \frac{x}{x} = x \times \frac{1}{x} = 1$

ب) $f(x) = \frac{x}{1-x}$ $g(x) = \frac{x}{1-x}$ $f \circ g(x) = f\left(\frac{x}{1-x}\right) = \frac{\frac{x}{1-x}}{1 - \frac{x}{1-x}} = \frac{\frac{x}{1-x}}{\frac{1-x-x}{1-x}} = \frac{\frac{x}{1-x}}{\frac{1-2x}{1-x}} = \frac{x}{1-2x}$
 $g \circ f(x) = \frac{\frac{x}{1-x}}{1 - \frac{x}{1-x}} = \frac{\frac{x}{1-x}}{\frac{1-x-x}{1-x}} = \frac{\frac{x}{1-x}}{\frac{1-2x}{1-x}} = \frac{x}{1-2x}$

$$f(x) = \sin x$$

$$g(x) = x \sqrt{1-x^2}$$

$$g \circ f\left(\frac{x}{x}\right) = g\left(f\left(\frac{x}{x}\right)\right) = g\left(\frac{\sqrt{x}}{x}\right) = \frac{\sqrt{x}}{x} \times \sqrt{1 - \frac{x}{x}} = \frac{\sqrt{x}}{x} \times \frac{\sqrt{x}}{x} = \frac{x}{x} = 1$$

$$f\left(\frac{x}{x}\right) = \sin \frac{x}{x} = \frac{\sqrt{x}}{x}$$

$$f(x) = \{(x, a), (y, a), (x, y), (1, y)\}$$

$$g(x) = \{(x, y), (y, x), (1, a), (1, y)\}$$

$$a) f \circ g(x) = f(g(x)) = \{(x, a), (y, a), (y, y), (1, y)\}$$

$$b) g \circ f(x) = g(f(x)) = \emptyset$$

$$c) f \circ f(x) = f(f(x)) = \emptyset$$

$$d) g \circ g(x) = g(g(x)) = \{(x, y), (y, x), (y, a), (1, y)\}$$

$$f = \{(x, 1), (x, 2), (x, a), (1, y)\}$$

$$(x, 2) \in f \circ g$$

$$(x, 1) \in g \circ f$$

$$g = \{(1, 2), (1, 1), (a, 2), (b, 1)\}$$

$$(x, 2) \in f \circ g \Rightarrow \begin{matrix} (x, 2) \in f \\ \downarrow \\ a = x \end{matrix} \Rightarrow \begin{matrix} (x, 2) \in g \\ \downarrow \\ b = a \end{matrix}$$

$$(a, b) = (x, a)$$

$$(x, 1) \in g \circ f \Rightarrow \begin{matrix} (x, 1) \in g \\ \downarrow \\ b = x \end{matrix} \Rightarrow \begin{matrix} (x, 1) \in f \\ \downarrow \\ a = 1 \end{matrix}$$

$$f(tn) \quad tn+r \rightarrow a^n+ab+b \rightarrow tn+r \rightarrow a^r=f \rightarrow a=r \rightarrow rb+b=r \rightarrow b=1$$

$$f(tn) \rightarrow a^n+b \rightarrow f(f(tn)) \rightarrow a(a^n+b)+b \rightarrow a^{r+1}+ab+b$$

$$gl(tn+r) \rightarrow tn-r \quad tn+r=t \rightarrow a=\frac{t-r}{r} \rightarrow g(t)=\frac{r(t-r)}{r}-r=\frac{rt-r^2}{r} \rightarrow g(tn)=\frac{rn-r^2}{r}$$

$$g \circ f(t-1) \rightarrow g(t-1) \rightarrow \frac{r(t-1)-r^2}{r} = \frac{-1r}{r} = -1$$

$$f(t-1) \rightarrow f(t-1)+1 = -1$$

$$a^r=f \rightarrow a=-r \rightarrow b=-r \rightarrow f(tn) \rightarrow -tn-r$$

$$f(t-1) \rightarrow -r-r = -1$$

$$f(tn) = \sqrt{n+1}n$$

$$gl(tn) = \frac{1}{n^2+1}$$

$$g \circ f(n) = \{n \in D_f ; f(n) \in D_g\} \rightarrow \left\{ \begin{array}{l} n \in D_f \rightarrow n+1 \neq 0 \rightarrow n \neq -1 \rightarrow D_f \setminus \{-1\} \\ f(n) \in D_g \rightarrow \sqrt{n+1} \neq 0 \rightarrow (0, \infty) \\ D_g \setminus \{t \in \mathbb{R} : t \neq 0\} \rightarrow n \neq 0 \\ \sqrt{n+1} \neq 0 \rightarrow n+1 \neq 0 \rightarrow n \neq -1 \\ n \neq 1 \end{array} \right\} \rightarrow D_{g \circ f} = (0, \infty) \setminus \{1\}$$

$$f(tn) = \sqrt{1-n^2}$$

$$gl(tn) = \sqrt{n}$$

$$f \circ g(t) \neq \{n \in D_f ; f(n) \in D_g\} \rightarrow \left\{ \begin{array}{l} D_f = \{1-n^2 \geq 0\} \rightarrow 1 \geq n^2 \rightarrow 1 \geq |n| \rightarrow -1 \leq n \leq 1 \\ f \circ g = \sqrt{1-n^2} + \sqrt{n} \rightarrow D_{f \circ g} \Rightarrow 1 \geq |n| \rightarrow n \in [-1, 1] \\ \sqrt{1-n^2} \geq 0 \rightarrow 1-n^2 \geq 0 \rightarrow n^2 \leq 1 \rightarrow -1 \leq n \leq 1 \end{array} \right\} \rightarrow D_{f \circ g} = [-1, 1]$$

$$a) f\left(\frac{r+1}{n-r}\right) \rightarrow tn+a \rightarrow f(t) = r\left(\frac{r+1}{t-r}\right)+a = \frac{r^2+1}{t-r} \rightarrow f(tn) = \frac{r^2n+1}{n-r}$$

$$\frac{r+1}{n-r} = t \rightarrow a = -\frac{r+1}{t-r} = \frac{r+1}{t-r}$$

$$b) f\left(\frac{1}{n}\right) = a + \frac{1}{n^r} \rightarrow f(t) = t^r - t \rightarrow f(tn) = n^r - tn$$

$$a + \frac{1}{n^r} = t \rightarrow \frac{1}{n^r} = t - a$$

$$a + \frac{1}{n^r} = \left(n + \frac{1}{n}\right) \times \left(n + \frac{1}{n^r} - 1\right) = (+) \left((t)^r - r\right) = t^r - rt$$

$$f(tn) = n\sqrt{n} \rightarrow g(f(tn)) = 0$$

$$g \circ f(tn) = \frac{1}{n\sqrt{n}} \rightarrow f(tn) = 1 \rightarrow n\sqrt{n} = 1 \rightarrow n = 1$$

$$f(tn) = r\sqrt{r} \rightarrow n\sqrt{n} = r\sqrt{r} \rightarrow n = r$$

$$g \circ f(tn) = \frac{1}{r\sqrt{r}}$$